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The dierence between the peaks is minimised at omega = 10 and this is because this is the natural frequency
of the plant

b)

The derivative is in phase with the direction that the output needs to go, meaning that it makes the
response move slightly faster, meaning that the output gets closer to the input.

c)
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Pure P control better rejects the noise, which is good for most applications. The derivative control amplifies
the noise.



d)

1
PID WINrAETS
S s*+ 55+ 100

<
O

%

1
PID( 5
&) 52+ 55 + 100

2)
o G6r3)64)
AT TR
9 sGhT (S71 &4 20)
X
| h-mo3
b

wie

£ < -

S
ings + £ 6OAFD’
[0-, [3,-) oot n Phe ot lon

breat
_M‘m

l<,(<$+§ ftl

S R—
(§+z) (5% 9st20)

»(S»rs)(m) 28t busru (Cpl b ki< b fl:'

3)

gPWW r
me% [ ;0(‘#0

W Femaves MW U slops

- /M{&) L

| A it
—/-/_ -~

30 400 1w 0

_az

3 0 (ot 0y~

phase (el
Phess (o



